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Problem Assignment 

THIS PROBLEM MUST BE ANSWERED IN YOUR LAB REPORT AND WILL BE GRADED. 

Assuming the equilibrium constant for the esterification of benzoic with methanol is K = 3, calculate 

the theoretical yield of methy 1 benzoate expected using the molar amounts used in the experiment (Lab 

5, above). 

Concentrated sulfuric acid is added as a catalyst in the esterification procedure, even though another 

acid (benzoic acid) is one of the organic reagents used. Why is the sulfuric acid necessary? 

11 These omework pate es really reduce your 
cravings. This one is 'Chemistry, 

1 

but you 
can get them in a y subject." 


